

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

· ---

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust

Treated as a Private Foundation

OMB No 1545-0052

Department of the Treasury Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements Internal Revenue Service For calendar year 2011 or tax year beginning , and ending Name of foundation A Employer identification number THE SEALARK FOUNDATION, INC 13-3747240 Number and street (or P O box number if mail is not delivered to street address) B Telephone number C/O BESSEMER TRUST, 630 FIFTH AVENUE (212) 708-9172 City or town, state, and ZIP code C If exemption application is pending, check here 10111 NEW YORK, NY G Check all that apply: Initial return Initial return of a former public charity D 1. Foreign organizations, check here Final return Amended return Poreign organizations meeting the 85% test, check here and attach computation Address change Name change X Section 501(c)(3) exempt private foundation H Check type of organization E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here I Fair market value of all assets at end of year | J | Accounting method X Cash Accrual F If the foundation is in a 60-month termination Other (specify) (from Part II, col. (c), line 16) under section 507(b)(1)(B), check here ▶\$ 5,059,282. (Part I, column (d) must be on cash basis.) Part | Analysis of Revenue and Expenses (d) Disbursements for chantable purposes (b) Net investment (c) Adjusted net (a) Revenue and (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) expenses per books income income (cash basis only) N/A Contributions, gifts, grants, etc., received Check ► X If the foundation is not required to attach Sch. B Interest on savings and temporary cash investments 159,174. 159,030. STATEMENT Dividends and interest from securities 5a Gross rents SCANNER MAY & & MIC Net rental income or (loss) 351,514 6a Net gain or (loss) from sale of assets not on line 10 Gross sales price for all assets on line 6a ... 4,726,965. 351,514. 7 Capital gain net income (from Part IV, line 2) 8 Net short-term capital gain Income modifications 10a Gross sales less returns and allowances Less Cost of goods sold .. c Gross profit or (loss) < 8,230.<8,230. STATEMENT 11 Other income 502,314 502,458 12 Total. Add lines 1 through 11 0. Compensation of officers, directors, trustees, etc Other employee salaries and wages 15 Pension plans, employee benefits Expenses 16a Legal fees 21,071 O NAY 1 4 2012 3,500 3,500. S 21,071 STMT 4 c Other professional fees Operating and Administrative STMT 5 1,496 0. Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings ... 22 Printing and publications STMT 6 171 0 171. 24 Total operating and administrative 26,238 21,167 3,671. expenses. Add lines 13 through 23 2,215,000 2,215,000. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. 2,241,238. 21,167 2,218,671. Add lines 24 and 25 27 Subtract line 26 from line 12 <1,738,780 Excess of revenue over expenses and disbursements 481,147 b Net investment income (if negative, enter -0-) N/A C Adjusted net income (if negative, enter -0-)

LHA For Paperwork Reduction Act Notice, see instructions.

Form **990-PF** (2011)

F)ard	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End o	f year
	ai t	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	86,217.	199.	
	2	Savings and temporary cash investments		29,200.	29,200.
	3	Accounts receivable ► 11,798.			
		Less: allowance for doubtful accounts		11,798.	11,798.
	4	Pledges receivable >			
		Less allowance for doubtful accounts			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable			······································
		Less: allowance for doubtful accounts			
ş	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
Ÿ	10a	Investments - U.S. and state government obligations STMT 8	1,188,570.	1,270,602.	1,340,523.
	T .	investments - corporate stock		2,828,390.	
		Investments - corporate bonds	498,501.	325,167.	345,520.
		Investments - land, buildings, and equipment basis			
		Less: accumulated depreciation		Ī	
	12	Investments - mortgage loans			
	13	Investments - other STMT 11	0.	257,922.	253,245.
	14	Land, buildings, and equipment: basis ►			200/2100
		Less: accumulated depreciation	1		
	15	Other assets (describe			
	`				
	16	Total assets (to be completed by all filers)	6,462,647.	4,723,278.	5,059,282.
_	17	Accounts payable and accrued expenses	0/202/02/0	17,2072,00	3/033/2021
	18	Grants payable			
s	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
iğ	21	Mortgages and other notes payable			
Ë	22				
		,	· · · · · · · · · · · · · · · · · · ·		
	23	Total liabilities (add lines 17 through 22)	0.	0.	
_	1	Foundations that follow SFAS 117, check here			
	l	and complete lines 24 through 26 and lines 30 and 31.			
8 8	24	Unrestricted			
anc	25	Temporarily restricted			
3al	26	Permanently restricted			
פֿ	20	Foundations that do not follow SFAS 117, check here			
or Fund Balance		and complete lines 27 through 31.		Į.	
	27	<u>.</u>	6,462,647.	4,723,278.	
Assets	28	Capital stock, trust principal, or current funds	0,402,047.	4,723,276.	
138	29	Retained earnings, accumulated income, endowment, or other funds	0.	0.	
Net/	•		6,462,647.	4,723,278.	
Z	30	Total net assets or fund balances	0,402,047.	4,723,270.	
	21	Total liabilities and not associationd belongs	6,462,647.	4,723,278.	
_		Total liabilities and net assets/fund balances		4,123,210.	
P	art	Analysis of Changes in Net Assets or Fund Ba	alances		
1	Total	net assets or fund balances at beginning of year - Part II, column (a), line 3		····	
		t agree with end-of-year figure reported on prior year's return)			6,462,647.
		amount from Dout Line 97a		1	<1,738,780.>
		Increases not included in line 2 (itemize)	• • • • • • • • • • • • • • • • • • • •	3	0.
		ines 1, 2, and 3		3 4	4,723,867.
		ases not included in line 2 (itemize)	ርክ <u>ም</u> ርጥአ		589.
		net assets or fund balances at end of year (line 4 minus line 5) - Part II, col		TEMENT / 5	4,723,278.
<u>. </u>	ı vtal	not assets of fund balances at end of year (line 4 finitus line 5) - Part II, Col	armi (v), line 30	. [0]	Form 990-PF (2011)
					rom 330-PF (2011)

2,218,671.

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate

See the Part VI instructions.

Enter qualifying distributions from Part XII, line 4

8

Form 990-PF (2011) THE SEALARK FOUNDATION, INC 13-374			Page 4
Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see	Instru	OIJOL	ns)
1a Exempt operating foundations described in section 4940(d)(2), check here ☐ and enter *N/A* on line 1.			
Date of ruling or determination letter (attach copy of letter if necessary-see instructions)		, ,	. 1 1
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here ► X and enter 1%		4,8	311.
of Part I, line 27b			
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col (b).			_
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)		4 6	0.
3 Add lines 1 and 2		4,6	311.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-) 4		4 0	0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		4,8	311.
6 Credits/Payments			
a 2011 estimated tax payments and 2010 overpayment credited to 2011			
b Exempt foreign organizations - tax withheld at source			
c Tax paid with application for extension of time to file (Form 8868)			
d Backup withholding erroneously withheld		2 0	40
7 Total credits and payments. Add lines 6a through 6d 7		3,9	42.
8 Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is attached 8			
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		٤	69.
10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid			
11 Enter the amount of line 10 to be: Credited to 2012 estimated tax			
Part VII-A Statements Regarding Activities		1	
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in		Yes	No
any political campaign?	1a		X
b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)?	1b	ļ	Х
If the answer is "Yes" to 1aor 1b, attach a detailed description of the activities and copies of any materials published or			I
distributed by the foundation in connection with the activities.			1
c Did the foundation file Form 1120-POL for this year?	10		X
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			Ī
(1) On the foundation ▶ \$ 0. (2) On foundation managers. ▶ \$ 0.			l
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			l
managers. ► \$O.			1
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		X
If "Yes," attach a detailed description of the activities.			
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or			
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		X
4a Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		X
b If "Yes," has it filed a tax return on Form 990-T for this year?	4b		<u>L</u>
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
If "Yes," attach the statement required by General Instruction T.			
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either.			
By language in the governing instrument, or			
 By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law 			
remain in the governing instrument?	6	X	
7 Did the foundation have at least \$5,000 in assets at any time during the year?	7	X	
If "Yes," complete Part II, col. (c), and Part XV.			
8a Enter the states to which the foundation reports or with which it is registered (see instructions)			
DE			
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			
of each state as required by General Instruction G? If "No," attach explanation	8b	X	
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar			
year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV	9	•	Х
10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10		X

TO THE CONTRACT TO THE TOTAL PART OF THE CONTRACT OF THE CONTR	TNO		10 07470	140	
Form 990-PF (2011) THE SEALARK FOUNDATION, Part VII-B Statements Regarding Activities for Which		Required (contro	13-37472	<u> </u>	Page 6
* 5a During the year did the foundation pay or incur any amount to:	TOTTI TIZO May be I	required (contin	ideo)		
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	n 4945/a\\2		es X No		
(2) Influence the outcome of any specific public election (see section 4955),		·-	53 ZZ NU		1
any voter registration drive?	or to carry on, uncomy or man		es X No		1
(3) Provide a grant to an individual for travel, study, or other similar purpose:			es X No		1
(4) Provide a grant to an organization other than a charitable, etc., organization			53 [ZL] NU		1
E00(a)(4) (0) as (0) as a set as 4040(4)(0)0			es X No		1
(5) Provide for any purpose other than religious, charitable, scientific, literary	or advertional purposes or	• ——	53 [22] 110	1	Ī
the properties of smaller to shild an experience O			es X No		Ī
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify un	der the exceptions described	• ——	ES [22] NO		İ
section 53 4945 or in a current notice regarding disaster assistance (see instr		in negalations	N/A	5b	Ť
Organizations relying on a current notice regarding disaster assistance check			▶ □		
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption					I
expenditure responsibility for the grant?			e No		1
If "Yes," attach the statement required by Regulations section 53.494			55		1
6a Did the foundation, during the year, receive any funds, directly or indirectly, to					I
a name and handfile and made	pay premiums on		es X No		
b Did the foundation, during the year, pay premiums, directly or indirectly, on a			3 IX NU	6b	x
If "Yes" to 6b, file Form 8870.	personal benefit contract?			OD	 ^
7a At any time during the tax year, was the foundation a party to a prohibited tax	chaltar transaction?		es X No		
b If "Yes," did the foundation receive any proceeds or have any net income attrib			N/A	7b	
				70	
Part VIII Paid Employees, and Contractors	cos, i canadación mo	inagers, mgm	,		
1 List all officers, directors, trustees, foundation managers and their	compensation.				
A None and add are	(b) Title, and average hours per week devoted	(c) Compensation	(d) Contributions to employee benefit plans and deferred	(e)	Expense unt, other
(a) Name and address	to position	(If not paid, enter -0-)	and deferred compensation	alic	owances
JAMES M CLARK	PRESIDENT				
C/O BESSEMER TRUST, 630 FIFTH AVENUE				ĺ	
NEW YORK, NY 10111	2.00	0.	0.		0.
JAMES M CLARK JR.	VICE PRESIDEN	T, SECRETA	RY		
C/O BESSEMER TRUST,630 FIFTH AVENUE]			-	
NEW YORK, NY 10111	2.00	0.	0.	1	0.
MRS. JAMES CLARK	TREASURER, AS	S'T SECRE	TARY		
C/O BESSEMER TRUST, 630 FIFTH AVENUE]	1			
NEW YORK, NY 10111	2.00	0.	0.		0.
				l	
2 Compensation of five highest-paid employees (other than those inc	luded on line 1). If none,	enter "NONE."	76.		
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week	(c) Compensation	(d) Contributions to employee benefit plans and deferred	(e)	Expense unt, other
	devoted to position	(C) Compensation	and deterred compensation	allo	wances
NONE					
				<u> </u>	
					_
					<u> </u>
	<u> </u>			<u> </u>	
Total number of other employees paid over \$50,000			<u> </u>		0
			Form	990-P	F (2011)

▶

Total. Add lines 1 through 3

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign	foundations,	see instructions)
1 Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes		
a Average monthly fair market value of securities	1a	6,086,858.
b Average of monthly cash balances	1b	299,098
c Fair market value of all other assets	1c	
d Total (add lines 1a, b, and c)	1d	6,385,956
e Reduction claimed for blockage or other factors reported on lines 1a and		
1c (attach detailed explanation)	0.	
2 Acquisition indebtedness applicable to line 1 assets	. 2	0.
3 Subtract line 2 from line 1d	3	6,385,956
4 Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	95,789
5 Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	6,290,167
6 Minimum investment return. Enter 5% of line 5	6	314,508
Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundation foreign organizations check here and do not complete this part.)	ns and certain	
1 Minimum investment return from Part X, line 6	. 1	314,508
2a Tax on investment income for 2011 from Part VI, line 5	1.	
b Income tax for 2011. (This does not include the tax from Part VI)		
c Add lines 2a and 2b	2c	4,811.
3 Distributable amount before adjustments. Subtract line 2c from line 1	3	4,811. 309,697.
4 Recoveries of amounts treated as qualifying distributions	4	0.
5 Add lines 3 and 4	5	309,697
6 Deduction from distributable amount (see instructions)	6	0.
7 Distributable amount as adjusted Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	309,697
Part XII Qualifying Distributions (see instructions)		
1 Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a Expenses, contributions, gifts, etc - total from Part I, column (d), line 26	1a	2,218,671.
b Program-related investments - total from Part IX-B	1b	0.
2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3 Amounts set aside for specific charitable projects that satisfy the:		
a Suitability test (prior IRS approval required)	3a	
b Cash distribution test (attach the required schedule)	3b	
4 Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	2,218,671.
5 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
income Enter 1% of Part I, line 27b	5	4,811.
6 Adjusted qualifying distributions. Subtract line 5 from line 4	6	4,811. 2,213,860.
Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundat	ion qualifies for	

4940(e) reduction of tax in those years

Page 9

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2010	(c) 2010	(d) 2011
1 Distributable amount for 2011 from Part XI,	Corpus	rears prior to 2010	2010	
line 7				309,697.
2 Undistributed income, if any, as of the end of 2011				
a Enter amount for 2010 only			0.	
b Total for prior years				
		0.		
3 Excess distributions carryover, if any, to 2011				
a From 2006				
b From 2007 1,619,783.				
c From 2008 3,371,266.				
d From 2009 2,993,769.				:
e From 2010 2,218,697.				
f Total of lines 3a through e	10,203,515.			
4 Qualifying distributions for 2011 from				
Part XII, line 4: \triangleright \$ 2,218,671.				!
a Applied to 2010, but not more than line 2a			0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)**	2,218,671.			
d Applied to 2011 distributable amount				0.
e Remaining amount distributed out of corpus	0.			
5 Excess distributions carryover applied to 2011	309,697.			309,697.
(If an amount appears in column (d), the same amount must be shown in column (a))				
6 Enter the net total of each column as indicated below:				:
2 Corpus Add lines 3f, 4c, and 4e. Subtract line 5	12,112,489.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of				
deficiency has been issued, or on which				
the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2010. Subtract line				
4a from line 2a Taxable amount - see Instr			0.	
f Undistributed income for 2011 Subtract				
lines 4d and 5 from line 1 This amount must		,		
be distributed in 2012				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2006				
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2012.				
Subtract lines 7 and 8 from line 6a	12,112,489.			
0 Analysis of line 9				
a Excess from 2007 1,310,086.				
b Excess from 2008 3, 371, 266.	<u> </u>			
c Excess from 2009 2,993,769.			1	
d Excess from 2010 2,218,697.			1	
e Excess from 2011 2,218,671.				
	** SEE STATE	MENT 12		Form 990-PF /2011\

	LARK FOUNDA				47240 Page 10
Part XIV Private Operating F			II-A, question 9)	N/A	
1 a If the foundation has received a ruling o					
foundation, and the ruling is effective fo		=	. ▶ ∟	1	
b Check box to indicate whether the found		ng foundation described		4942(j)(3) or 49	942(j)(5) T
2 a Enter the lesser of the adjusted net	Tax year	(1) 0040	Prior 3 years	T (4) 0000	(a) Total
income from Part I or the minimum	(a) 2011	(b) 2010	(c) 2009	(d) 2008	(e) Total
investment return from Part X for					
each year listed		ļ		<u> </u>	
b 85% of line 2a				-	
c Qualifying distributions from Part XII,					
line 4 for each year listed				-	
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities					
e Qualifying distributions made directly					
for active conduct of exempt activities					
Subtract line 2d from line 2c 3 Complete 3a, b, or c for the					
alternative test relied upon:					
a "Assets" alternative test - enter:				1	}
(1) Value of all assets					
(2) Value of assets qualifying under section 4942(j)(3)(8)(i)					
b "Endowment" alternative test - enter					
2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:					
(1) Total support other than gross	1				
investment income (interest,			1		
dividends, rents, payments on securities loans (section					
512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt organizations as provided in					
section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization				1	
(4) Gross investment income					
Part XV Supplementary Info	rmation (Comple	te this part only	if the foundation	n had \$5,000 or m	ore in assets
at any time during t	he year-see instr	ructions.)			
1 Information Regarding Foundatio	n Managers:				
a List any managers of the foundation who year (but only if they have contributed m			tributions received by the	foundation before the clo	se of any tax
JAMES M CLARK					
b List any managers of the foundation who other entity) of which the foundation has			(or an equally large porti	on of the ownership of a p	artnership or
NONE	• • • • • • • • • • • • • • • • • • • •				
2 Information Regarding Contributi	on Grant Gift Loan	Scholarship etc. P	rograms:		
Check here ► X If the foundation of		-	-	not accept uncolleited requ	ests for funds. If
the foundation makes gifts, grants, etc. (
a The name, address, and telephone numb	·				
N/A					<u>,</u>
b The form in which applications should be N/A	e submitted and informat	tion and materials they s	hould include		
c Any submission deadlines					
d Any restrictions or limitations on awards	such as by geographics	l areas charitable fields	kinds of institutions or	other factors	
N/A	, caon as by goograpilled	crous, snamubio nelus	, mares or mondations, VI	J 1401010	
··· · · ·					

123601 12-02-11

Form 990-PF (2011) THE SEALARK FOU	NDATION	, INC		13-3	747240 Page 12
Part XVI-A Analysis of Income-Produc	ing Activiti	es			
Enter gross amounts unless otherwise indicated	Unrelated	business income		by section 512, 513, or 514	(e)
1 Program against reviewed	(a) Business	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income
1 Program service revenue: a	code		code		
L	 		1	···· '-	
c					
d					
e					
1					
g Fees and contracts from government agencies					
2 Membership dues and assessments					·····
3 Interest on savings and temporary cash					· · · · · · · · · · · · · · · · · · ·
investments	1		f		
4 Dividends and interest from securities		·	14	159,174.	<u> </u>
5 Net rental income or (loss) from real estate:					
a Debt-financed property			I l		· · · · · · · · · · · · · · · · · · ·
b Not debt-financed property		, ,			···
6 Net rental income or (loss) from personal					
property	1 1		1 1		
7 Other investment income		· · · · · · · · · · · · · · · · · · ·	14	<8,230.>	
8 Gain or (loss) from sales of assets other					
than inventory			18	351,514.	
9 Net income or (loss) from special events				· · · · · · · · · · · · · · · · · · ·	
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:			<u> </u>		
a	1				
b					
C					
d					
e					
12 Subtotal Add columns (b), (d), and (e)		0.		502,458.	0.
40 7 11 1 11 11 10 10 11 11 11 11 11 11				. 13	502,458
(See worksheet in line 13 instructions to verify calculations)				· -	
Part XVI-B Relationship of Activities to	the Accor	mplishment of Ex	cempt P	urposes	
				· · · · · · · · · · · · · · · · · · ·	
Explain below how each activity for which income the foundation's exempt purposes (other than be			. contribute	a importantly to the accomp	IISAMENT OI
N/A	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
					
					·
	·			· · · · · · · · · · · · · · · · · · ·	
					· · · · · · · · · · · · · · · · · · ·
					-
					
		·			
				· · · · · · · · · · · · · · · · · · ·	
					
			-		

123621 12-02-11

Page 13

THE SEALARK FOUNDATION, INC

	Exempt Organ	-	31613 10	and Transactions	and neighbor				
1 Did the	organization directly or indi		of the following	ng with any other organizat	ion described in sec	ction 501(c) of		Yes	No
	de (other than section 501(c					``			
	ers from the reporting found								Ė
(1) Ca				3			1a(1)		Х
	her assets		•	• • •			1a(2)		X
	ransactions:				•	• •	1		Ē
	les of assets to a nonchanta	ble exempt organiza	tion				1b(1)		Х
	rchases of assets from a no			•	•		1b(2)		Х
	ntal of facilities, equipment,		-				1b(3)		Х
	imbursement arrangements					•	15(4)		Х
							16/5)	i	Х
	rformance of services or me		-			•	1b(6)		Х
	of facilities, equipment, ma		-				10		Х
	nswer to any of the above is				lways show the fair	market value of the		sets.	
	ices given by the reporting f	="	-		-				
	(d) the value of the goods,					3			
(a) Line no	(b) Amount involved			e exempt organization	(d) Description	on of transfers, transaction	ons, and shanng a	rangeme	nts
	······································		N/A	· · · · · · · · · · · · · · · · · · ·					
				·			-		
		i							
								-	
	· · · · · · · · · · · · · · · · · · ·								
	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·							
									
		······································							
	 	· · 		· · · · · · · · · · · · · · · · · · ·					
2a Is the fo	oundation directly or indirect	lly affiliated with or i	related to one	or more tax-exempt organ	izations described				
	on 501(c) of the Code (other	•	· ·				Yes	X] No
	complete the following sch	• •	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		•				
<u> </u>	(a) Name of org			(b) Type of organization		(c) Description of re	elationship		
	N/A					· · · · · · · · · · · · · · · · · · ·			
	· · · · · · · · · · · · · · · · · · ·								
					 				
									
Und	ier penalties of perjury, I declare	that I have examined the	s return, includir	ng accompanying schedules and	d statements, and to th	e best of my knowledge	May the IRS	diegues f	hie
Sign and	belief, it is true, correct, and con	nplete Deolanation of pr	eparer (other tha	n taxpayer) is based on all infor	mation of which prepar	er has any knowledge	return with th	e prepan	er
Here	Laura	~ (/av	k	1 8/2/12	PRESI	DENT	shown below]″No
1 12	gnature of officer or trustee			Date	Title			_	لتت
	Print/Type preparer's na	me	Preparer's s	ignature	Date	Check If	PTIN		
	(1)			Mar Yar , UNA	1	self- employed			
Paid	TLAI NGOR Y	EE	dai	Man Ja			P00377	226	
. did Preparei			ST CO	, UNA	1 ,	Firm's EIN ▶ 1			
Use Only	1			,					
-00 0 111)	Firm's address ▶ 63	<u>0 </u>	VENUE			+			
	1	W YORK, N		1		Phone no (212) 70	8-9	172
	1 1415	101111/ 11		<u>-</u>		Ti none no /	Form 99 0		
							1 0/111 330		-011

FORM 990-PF DIVIDENT	DS AND	INTER	EST FR	OM SEC	URITIES	STATEMENT	1
SOURCE		GROSS	AMOUN		PITAL GAINS DIVIDENDS	COLUMN (A) AMOUNT	
BESSEMER TR -CAP GAIN DIV BESSEMER TR -RETURN OF CAP BESSEMER TRUST	_		47,36 14 159,03	4.	47,369. 0. 0.	14 159,03	
TOTAL TO FM 990-PF, PART I,	LN 4 =		206,54	3. = ==	47,369.	159,17	4.
FORM 990-PF	07	THER I	NCOME			STATEMENT	2
DESCRIPTION			(A) REVENI PER BOO		(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM	
BESSEMER TRUST - FOREIGN CURI	RENCY		<	3,230.>	× <8,230.	>	
TOTAL TO FORM 990-PF, PART I	, LINE	11	</td <td>3,230.></td> <td><8,230.</td> <td>></td> <td>_</td>	3,230.>	<8,230.	>	_
FORM 990-PF	ACC	COUNTI	NG FEE	S		STATEMENT	3
DESCRIPTION	(<i>F</i> EXPEN PER E	ISES	NET I	3) NVEST- INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
FINANCIAL SERVICE FEES	3	3,500.		0.		3,500.	
TO FORM 990-PF, PG 1, LN 16B	3	5,500.		0.		3,50	0.
FORM 990-PF	OTHER P	ROFES	SIONAL	FEES		STATEMENT	4
DESCRIPTION	(A EXPEN PER B	ISES	(F NET IN MENT I	WEST-	(C) ADJUSTED NET INCOME	(D) CHARITABI PURPOSES	
INVESTMENT SERVICES FEES	21	,071.	2	21,071.			0.
TO FORM 990-PF, PG 1, LN 16C	21	,071.	2	21,071.			0.
=			=	, _ ,		= ====	==

FORM 990-PF	TAX	ES	S	STATEMENT 5		
DESCRIPTION	(A) EXPENSES PER BOOKS			(D) CHARITAE PURPOSE		
FOREIGN TAX PAID ESTIMATED TAX	96. 1,400.			-	0.	
TO FORM 990-PF, PG 1, LN 18	1,496.	96.			0.	
FORM 990-PF	OTHER E	XPENSES	S	TATEMENT	6	
DESCRIPTION	(A) EXPENSES PER BOOKS	NET INVEST-		(D) CHARITAE PURPOSE		
CSC EXPENSE STATE OF DELAWARE	146. 25.	0.			16.	
TO FORM 990-PF, PG 1, LN 23	171.	0.		17	71.	
FORM 990-PF OTHER DECREASI	ES IN NET AS	SETS OR FUND E	BALANCES S	TATEMENT	7	
DESCRIPTION				AMOUNT		
SALE OF SECURITY WITH RETURN	OF CAPITAL			58	39.	
TOTAL TO FORM 990-PF, PART II	II, LINE 5			58	39.	

FORM 990-PF U.S. AND STATE/CITY GOVERNMENT	OBLIGATIONS	STATEMENT 8
DESCRIPTION U.S. OTHER GOV'T GOV'T	BOOK VALUE	FAIR MARKET VALUE
MARKETABLE SECURITIES X	1,270,602.	1,340,523.
TOTAL U.S. GOVERNMENT OBLIGATIONS	1,270,602.	1,340,523.
TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS	-	
TOTAL TO FORM 990-PF, PART II, LINE 10A	1,270,602.	1,340,523.
FORM 990-PF CORPORATE STOCK		STATEMENT 9
DESCRIPTION	BOOK VALUE	FAIR MARKET VALUE
MARKETABLE SECURITIES	2,828,390.	3,078,797.
TOTAL TO FORM 990-PF, PART II, LINE 10B	2,828,390.	3,078,797.
FORM 990-PF CORPORATE BONDS		STATEMENT 10
DESCRIPTION	BOOK VALUE	FAIR MARKET VALUE
MARKETABLE SECURITIES	325,167.	345,520.
TOTAL TO FORM 990-PF, PART II, LINE 10C	325,167.	345,520.
FORM 990-PF OTHER INVESTMENTS		STATEMENT 11
VALUATION DESCRIPTION METHOD	BOOK VALUE	FAIR MARKET VALUE
STRATEGIC CURRENCY COST	257,922.	253,245.
blikildle cokklikel		

FORM 990-PF

ELECTION UNDER REGULATIONS SECTION
53.4942(A)-3(D)(2) TO TREAT
EXCESS QUALIFYING DISTRIBUTIONS
AS DISTRIBUTIONS OUT OF CORPUS

STATEMENT 12

PART XIII, UNDISTRIBUTED INCOME, LINE 4C

ELECTION UNDER IRC REG. SEC. 53-4942(A)-3(D)(2)

PURSUANT TO IRC SECTION 4942 (H)(2) AND REGULATION 53.4942(A)-3(D)(2), THE SEALARK FOUNDATION, INC. HEREBY ELECTS TO TREAT CURRENT YEAR'S QUALIFYING DISTRIBUTIONS IN EXCESS OF THE IMMEDIATELY PRECEDING YEAR'S UNDISTRIBUTED INCOME AS BEING MADE OUT OF CORPUS.

SIGNATURE:

NAME:

Tames M. Clark

1
2
$\overline{}$
6
\rightarrow
ssem
45

Acco	Account Details				Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis), 2011			Page 4 of 9
Security no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated, Current annual incomed E.y''eld
	SEALARK FOUNDATION INC IM 5/19/97									-
CASH A	CASH AND SHORT TERM									
CASH AVAILABLE	AILABLE									
999994	PRINCIPAL CASH		0.000	\$0.00	\$0	\$0.000	0\$	%0.0	\$0	\$0
999995	INCOME CASH		0.000	\$0.00	\$0	\$0.000	\$0	%0 0	\$0	\$0
966666	NET CASH		100.760	\$0.00	\$100	\$0 000	\$100	%0:0	\$0	%00 0 0\$
Total CAS	Total CASH AVAILABLE				\$100		\$100	%0.0	\$0	\$0 0.00%
CASH EQ	CASH EQUIVALENTS									
990105	SEI GOVT II FUND #33	783965304	17,400.000	\$1.00	\$17,400	\$1.000	\$17,400	4 9%	\$0	\$1 0.01%
Total CAS	Total CASH EQUIVALENTS				\$17,400		\$17,400	4.9%	\$0	\$1 0.01%
T-BILLS &	T-BILLS & ST DISC AGENCIES									
108766	US TREASURY BILLS 05/03/2012	9127953N9	340,000.000	\$99.98	\$339,941	BOOK	\$339,941	95.1%	œ	\$103 003%
Total T-BI	Total T-BILLS & ST DISC AGENCIES				\$339,941		\$339,941	95.1%	0\$	\$103 0.03%
Total CAS	Total CASH AND SHORT TERM				\$357,441		\$357,441	100.0%	\$0	\$104 0.03%
STRATE	STRATEGIC CURRENCY									
603903	HK DOLLAR DEPOSIT - BNYM		823,821.850	\$0.13	\$105,782	\$0.129	\$106,025	41.9%	\$243	%00 0 0\$
603904	SG DOLLAR DEPOSIT - BNYM		83,779.570	\$0.79	\$66,113	\$0.772	\$64,644	25.5%	(\$1,469)	\$0 0.00%
603905	NO KRONE DEPOSIT - BNYM		294,815 220	\$0.18	\$52,891	\$0.168	\$49,440	19.5%	(\$3,450)	\$353 071%
605213	US DOLLAR DEPOSIT - BNYM		33,136.100	\$1.00	\$33,136	\$1.000	\$33,136	13 1%	\$0	%00 0 0\$
Total STR	Total STRATEGIC CURRENCY				\$257,922		\$253,245	100.0%	(\$4,676)	\$353 0.14%
LARGE	LARGE CAP CORE - U.S.									
INFORMA	INFORMATION TECHNOLOGY									
842450	INTERNATIONAL BUS MACHINES	459200101	35.000	\$180.89	\$6,331	\$183.857	\$6,435	3 3%	\$104	\$105 1 63%
851360	MICROSOFT CORP	594918104	745.000	\$25.39	\$18,918	\$25.960	\$19,340	8:6%	\$422	\$596 3 08%
886611	WESTERN UNION CO	959802109	350.000	\$16.40	\$5,739	\$18 260	\$6,391	3.3%	\$651	\$112 1.75%
902312	ACCENTURE PLC CL A	G1151C101	125 000	\$54 60	\$6,825	\$53.224	\$6,653	3.4%	(\$171)	\$168 253%
Total INF(Total INFORMATION TECHNOLOGY				\$37,813		\$38,819	19.8%	\$1,006	\$981 2.53%
4										

Market prices are updated nightly and therefore will not reflect pricing changes made intraday Aga result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices

Report run on Apr 16, 2012 by YEE Version GP8 4 1 2

$\overline{}$
r .
•
Į
4
Ш
0
(T)
$\overline{}$

Accor	Account Details			Re Ar Tr	Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011			Page 5 of 9	6.J
Security no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Cu	Current yreld
	SEALARK FOUNDATION INC IM 5/19/97										
LARGE	LARGE CAP CORE - U.S.										
INDUSTRIALS	ALS										
833750	GENERAL DYNAMICS CORP	369550108	65.000	\$62.52	\$4,064	\$66.400	\$4,316	2.2%	\$251	\$122 28	2 83%
Total INDUSTRIALS	ISTRIALS				\$4,064		\$4,316	2.2%	\$251	\$122 3.4	3.45%
TELECOM	TELECOM SERVICES										
815785	CENTURYLINK INC	156700106	125 000	\$37 25	\$4,656	\$37.200	\$4,650	2 4%	(\$6)	\$362 7 7	7 78%
Total TELE	Total TELECOM SERVICES				\$4,656		\$4,650	2.4%	(\$\$)	\$362 3.6	3.60%
HEALTH CARE	ARE										
843800	JOHNSON & JOHNSON	478160104	120.000	\$63.12	\$7,574	\$65 575	\$7,869	4 0%	\$295	\$273 3	3 47%
881943	UNITEDHEALTH GROUP INC	91324P102	150.000	\$44.39	\$6,659	\$50.680	\$7,602	3.9%	\$942	\$97 1	28%
Total HEALTH CARE	LTH CARE				\$14,233		\$15,471	7.9%	\$1,237	\$370 2.	2.46%
FINANCIALS	รา										
986524	ACE LIMITED	H0023R105	280.000	\$49.73	\$13,924	\$70.118	\$19,633	10.0%	\$5,708	\$526 2 (2 68%
Total FINANCIALS	NCIALS				\$13,924		\$19,633	10.0%	\$5,708	\$526 3.0	3.60%
CONSUME	CONSUMER STAPLES										
822151	CVS/CAREMARK CORP	126650100	225.000	\$37.83	\$8,511	\$40.778	\$9,175	4.7%	\$663	\$146 1.	1.59%
Total CON	Total CONSUMER STAPLES				\$8,511		\$9,175	4.7%	\$663	\$146 2.	2.51%
MATERIALS	S										-
832563	FREEPORT-MCMRN CPPR&GOLD	35671D857	190.000	\$37.81	\$7,184	\$36.789	\$6,990	3.6%	(\$193)	\$190 2.	2.72%
857450	NEWMONT MINING CORP	651639106	225 000	\$63.45	\$14,277	\$60.009	\$13,502	%6.9	(\$774)	\$315 2	2 33%
Total MATERIALS	ERIALS				\$21,461		\$20,492	10.5%	(\$964)	\$505 2.	2.41%
CONSUME	CONSUMER DISCRETIONARY										
805329	COMCAST CORP CL A NEW	20030N101	400.000	\$21.28	\$8,512	\$23.710	\$9,484	4.8%	\$971	\$180 1	%06
814456	CARNIVAL CORP CL A	143658300	325.000	\$31.61	\$10,273	\$32.640	\$10,608	5 4%	\$334	\$325 3	%90
848064	MACY'S INC	55616P104	85.000	\$30.32	\$2,577	\$32.176	\$2,735	1 4%	\$158	\$34 1	1 24%
850175	MCGRAW-HILL COMPANIES INC	580645109	125.000	\$43.56	\$5,445	\$44 968	\$5,621	2 9%	\$175	\$125 2	2 22%

Market prices are updated nightly and therefore will not reflect pricing changes made intraday As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices

4
ĺ
r
Эľ
M
ssem
9
3
$\widetilde{\mathbf{a}}$

Accor	Account Details			R A TI	Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011			Page 6 of 9
Security no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Current annual income yield
	SEALARK FOUNDATION INC IM 5/19/97									
LARGE	LARGE CAP CORE - U.S.									
CONSUME	CONSUMER DISCRETIONARY									
878468	TARGET CORP	87612E106	150.000	\$52.23	\$7,835	\$51.220	\$7,683	3 9%	(\$152)	\$180 234%
888827	YUM BRANDS INC	988498101	250.000	\$54 87	\$13,717	\$59.008	\$14,752	7 5%	\$1,035	\$285 1 93%
Total CON	Total CONSUMER DISCRETIONARY				\$48,359		\$50,883	26.0%	\$2,521	\$1,129 2.38%
ENERGY										
819413	CONOCOPHILLIPS	20825C104	50.000	\$68.36	\$3,418	\$72.860	\$3,643	1 9%	\$224	\$132 362%
848843	MARATHON OIL CORP	565849106	225.000	\$25.87	\$5,820	\$29.267	\$6,585	3.4%	\$765	\$135 2.05%
901258	NOBLE CORPORATION	H5833N103	125.000	\$34 58	\$4,322	\$30.216	\$3,777	1.9%	(\$545)	\$74 196%
Total ENERGY	RGY				\$13,560		\$14,005	7.1%	\$444	\$341 3.87%
UTILITIES										
823500	DETROIT ENERGY CO	233331107	100.000	\$50.51	\$5,051	\$54.450	\$5,445	2.8%	\$393	\$235 4 32%
828398	EXELON CORP	30161N101	150.000	\$43.16	\$6,474	\$43.367	\$6,505	3.3%	\$30	\$315 484%
831264	FIRSTENERGY CORP	337932107	150.000	\$43.31	\$6,497	\$44.300	\$6,645	3 4%	\$147	\$330 4 97%
Total UTILITIES	TIES				\$18,022		\$18,595	9.5%	\$570	\$880 4.19%
Total LAR	Total LARGE CAP CORE - U.S.				\$184,603		\$196,039	100.0%	\$11,427	\$5,362 2.74%
LARGE	LARGE CAP CORE - NON U.S.									
INDUSTRIALS	ALS									
900927	EAST JAPAN RAIL ADR	273202101	1,550.000	\$10.20	\$15,812	\$10.614	\$16,451	7.0%	\$639	\$296 1.80%
904803	DEUTSCHE POST AG ADR	25157Y202	525.000	\$14.87	\$7,807	\$15.421	\$8,096	3 5%	\$289	\$471 582%
905419	ABERTIS INFRAESTR ADR	003381100	325.000	\$7.37	\$2,394	\$8.009	\$2,603	1 1%	\$208	\$212 8 14%
919005	KON PHILIP ELEC ADR	500472303	125.000	\$18.44	\$2,305	\$20.944	\$2,618	1.1%	\$312	\$118 451%
927371	ITOCHU CORP ADR	465717106	250.000	\$19 27	\$4,817	\$20.324	\$5,081	2.2%	\$264	\$133 262%
Total INDL	Total INDUSTRIALS				\$33,135		\$34,849	14.9%	\$1,712	\$1,230 3.45%
		4004004	000	0.40	10000	4 7 7 2 0 0	644 550	/90 9	(6770)	6050 4 700/
901909	CHINA IELECOM ADR	169426103	255.000	\$60.18	\$15,347	\$21.7¢	\$14,008	%7 0	(6//4)	%7/ I 007¢

Market prices are updated nightly and therefore will not reflect pricing changes made intraday Asia result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices

	١
	١
S	į
	Ì
Œ	į
•	ì
7	ı
_	
Ш	1
	į
	l
	ĺ
ì	
	١
	1
esseme	Ì
7.	١
5 4	
.	Į
	ı

Accol	Account Details			A A T	Report dated Decel Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011			Page 7 of 9
Security no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Current annual income yield
	SEALARK FOUNDATION INC IM 5/19/97									
LARGE	LARGE CAP CORE - NON U.S.									
TELECOM	TELECOM SERVICES									
905422	TELE2 AB ADR	87952P307	550.000	\$9.55	\$5,251	\$9.765	\$5,371	2 3%	\$119	\$190 3 54%
933905	SK TELECOM ADR	78440P108	350 000	\$14.25	\$4,988	\$13.609	\$4,763	2 0%	(\$225)	\$254 5 33%
Total TELE	Total TELECOM SERVICES				\$25,586		\$24,702	10.6%	(\$88\$)	\$694 3.60%
HEALTH CARE	CARE									
907989	SANOFI - ADR	80105N105	225.000	\$32.95	\$7,414	\$36.538	\$8,221	3 5%	\$807	\$297 3.61%
924978	MERCK KGAA ADR	589339100	100.000	\$31.28	\$3,128	\$33 330	\$3,333	1.4%	\$204	\$39 1.17%
958901	TEVA PHARM INDS LTD ADR	881624209	200.000	\$38.55	\$7,710	\$40 360	\$8,072	3.4%	\$361	\$157 194%
Total HEA	Total HEALTH CARE				\$18,252		\$19,626	8.4%	\$1,372	\$493 2.46%
FINANCIALS	TS									
900901	MUNICH RE GROUP ADR	626188106	650.000	\$11.78	\$7,657	\$12.303	\$7,997	3.4%	\$340	\$402 5.03%
904004	CHINA CONSTRUCTION ADR	168919108	725.000	\$14.00	\$10,151	\$13.956	\$10,118	4.3%	(\$32)	\$390 3.85%
905386	SUNCORP GROUP ADR	86723Y100	400.000	\$8.16	\$3,266	\$8.590	\$3,436	1.5%	\$170	\$123 358%
905424	NORDEA BK SWEDEN AB ADR	65557A206	1,025.000	\$7.60	\$7,788	\$7.768	\$7,962	3 4%	\$173	\$335 421%
905438	WHARF HOLDINGS ADR	962257200	725.000	\$9.75	\$7,070	\$9.039	\$6,553	2.8%	(\$517)	\$168 2 56%
906209	BARCLAYS PLC ADR	06738E204	475.000	\$10.07	\$4,784	\$10.989	\$5,220	2 2%	\$435	\$168 3.22%
914068	ALLIANZ AKTIENGES ADR	018805101	350.000	\$9.51	\$3,330	\$9.594	\$3,358	1.4%	\$27	\$169 503%
968662	SUMITOMO MITSUI FIN ADR	86562M209	950.000	\$5.39	\$5,122	\$5.509	\$5,234	2.2%	\$111	\$219 4.18%
Total FINANCIALS	ANCIALS				\$49,168		\$49,878	21.3%	\$707	\$1,974 3.60%
CONSUME	CONSUMER STAPLES									
900061	AB FOODS LTD ADR	045519402	600.000	\$17.35	\$10,409	\$17.203	\$10,322	4.4%	(\$81)	\$212 205%
926008	IMPERIAL TOBACCO LT ADR	453142101	115 000	\$70.58	\$8,117	\$75.678	\$8,703	3.7%	\$585	\$353 4 06%
933964	KON AHOLD ADR	500467402	550.000	\$12 68	\$6,974	\$13.505	\$7,428	3.2%	\$453	\$191 257%
962458	UNILEVER NV ADR	904784709	225 000	\$32.37	\$7,284	\$34 369	\$7,733	3 3%	\$448	\$237 3 06%
967819	AJINOMOTO INC ADR	009707100	40 000	\$119.00	\$4,760	\$120.075	\$4,803	2.1%	\$43	\$70 146%
Total CON	Total CONSUMER STAPLES				\$37,544		\$38,989	16.7%	\$1,442	\$1,063 2.51%

Market prices are updated nightly and therefore will not reflect pricing changes made intraday At a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

7	
	١
	l
₹	
ط	
\equiv	I
Ľ	
2	Ì
	ĺ
1	
Шes	l
4	Į
4	į
	ı
	I

Account Details			R A	Report dated December 30, 2011 Amortized tax cost Trade date basis	December 30 cost is	, 2011			Page 8 of 9	of 9
Security no Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	N Cost pe	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated (annual income	Current yield
SEALARK FOUNDATION INC IM 5/19/97										_
LARGE CAP CORE - NON U.S.										
MATERIALS										
802483 BARRICK GOLD CORP	067901108	175.000	\$47.81	\$8,366	\$45.246	\$7,918	3 4%	(\$447)	\$70	0 88%
901454 AKZO NOBEL NV ADR	010199305	55 000	\$44.04	\$2,422	\$48.491	\$2,667	1.1%	\$245	\$91	3 41%
904977 BHP BILLITON PLC-ADR	05545E209	135.000	\$56.30	\$7,601	\$58 385	\$7,882	3.4%	\$281	\$272	3 45%
Total MATERIALS				\$18,389		\$18,467	7.9%	\$79	\$433	2.41%
CONSUMER DISCRETIONARY										
848349 MAGNA INTL INC CL A	559222401	125.000	\$33.45	\$4,181	\$33.304	\$4,163	1 8%	(\$17)	\$180	4 32%
Total CONSUMER DISCRETIONARY				\$4,181		\$4,163	1.8%	(\$17)	\$180	2.38%
ENERGY										
915019 ENI S P.A. ADR	26874R108	325.000	\$42.22	\$13,720	\$41.268	\$13,412	5.7%	(\$308)	\$665	4.96%
948208 SINOPEC/CHINA PETE&CHM ADR	16941R108	75.000	\$103.33	\$7,750	\$105.040	\$7,878	3.4%	\$128	\$237	3 01%
959209 TOTAL SA ADR	89151E109	175.000	\$48.93	\$8,563	\$51.109	\$8,944	3.8%	\$381	\$471	5 27%
Total ENERGY				\$30,033		\$30,234	12.9%	\$201	\$1,373	3.87%
, UTILITIES										
900767 SSE PLC ADR	78467K107	125.000	\$20.03	\$2,504	\$20 056	\$2,507	1.1%	\$2	\$144	5 74%
901986 GDF SUEZ ADR	36160B105	95.000	\$25.42	\$2,415	\$27.411	\$2,604	1.1%	\$188	\$142	5 45%
905429 TOKYO GAS LTD ADR	889115101	175.000	\$42.30	\$7,402	\$46.006	\$8,051	3.4%	\$649	\$166	2 06%
Total UTILITIES				\$12,321		\$13,162	2.6%	\$839	\$452	4.19%
Total LARGE CAP CORE - NON U.S.				\$228,609		\$234,070	100.0%	\$5,450	\$7,892	3.37%
LARGE CAP STRATEGIES										
LARGE CAP STRATEGIES FUNDS										
943344 OW LARGE CAP STRATEGIES FD	680414109	71,615.192	\$9.22	\$660,107	\$8 770	\$628,065	100.0%	(\$32,041)	\$716	0 11%
Total LARGE CAP STRATEGIES FUNDS				\$660,107		\$628,065	100.0%	(\$32,041)	\$716	0.11%
Total LARGE CAP STRATEGIES				\$660,107		\$628,065	100.0%	(\$32,041)	\$716	\$716 0.11%
GLOBAL SMALL & MID CAP										
فر -										

Report run on Apr 16, 2012 by YEE Version GP8 4 1 2

Market prices are updated nightly and therefore will not reflect pricing changes made intraday Apa result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices

Į,
,
\mathbf{A}
-
-
-
\mathbf{a}
sseme
~
()
_

Account Details				Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	0, 2011			Page 9 of 9
Secunty no Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estmated Current annual income yield
SEALARK FOUNDATION INC IM 5/19/97									
GLOBAL SMALL & MID CAP									
GLOBAL SMALL & MID CAP FUNDS									
905637 OW GLOBAL SML & MID CAP FD	680414604	66,390.654	\$10 36	\$688,053	\$13 470	\$894,282	100.0%	\$206,228	\$6,307 071%
Total GLOBAL SMALL & MID CAP FUNDS				\$688,053		\$894,282	100.0%	\$206,228	\$6,307 0.71%
Total GLOBAL SMALL & MID CAP				\$688,053		\$894,282 100.0%	100.0%	\$206,228	\$6,307 0.71%
GLOBAL OPPORTUNITIES									
GLOBAL OPPORTUNITIES FUNDS									
943328 OW GLOBAL OPPORTUNITIES FD	680414802	106,488 744	\$5 95	\$634,021	\$6.780	\$721,993	100.0%	\$87,972	\$42,063 583%
Total GLOBAL OPPORTUNITIES FUNDS				\$634,021		\$721,993	100.0%	\$87,972	\$42,063 5.83%
Total GLOBAL OPPORTUNITIES				\$634,021		\$721,993	100.0%	\$87,972	\$42,063 5.83%
REAL RETURN/COMMODITIES									
REAL RETURN FUNDS									
860093 OW REAL RETURN FUND	680414703	43,478.337	96 6\$	\$432,997	\$9.300	\$404,348	100.0%	(\$28,649)	\$9,869 2.44%
Total REAL RETURN FUNDS				\$432,997		\$404,348	100.0%	(\$28,649)	\$9,869 2.44%
Total REAL RETURN/COMMODITIES				\$432,997		\$404,348	100.0%	(\$28,649)	\$9,869 2.44%
Total			•	\$3,443,753		\$3,689,483		\$245,711	\$72,666 1.97%

Į	
50	
ru	
, '	
)ľ	
6	
sseme	
Ó	
9	

Account Details					Report dated De Amortized tax co Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	ır 30, 2011			Page 3 of 3
Security no Security name		CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Current annual income yield
SEALARK FOUNDATION IM 5/19/97 FI	ON IM 5/19/97 FI									
CASH AND SHORT TERM										
CASH AVAILABLE										
999994 PRINCIPAL CASH			0.000	\$0 00	\$0	\$0 000	\$0	%0.0	\$0	\$0
999995 INCOME CASH			0.000	\$0.00	\$0	\$0.000	\$0	%00	\$	\$0
999996 NET CASH			068 66	\$0.00	66\$	\$0.000	\$68	0.8%	\$0	%00 0 0\$
Total CASH AVAILABLE					\$99		66\$	0.8%	\$	\$0 0.00%
CASH EQUIVALENTS										
990105 SEI GOVT II FUND #33		783965304	11,800 000	\$1.00	\$11,800	\$1.000	\$11,800	99 2%	\$0	\$1 001%
Total CASH EQUIVALENTS					\$11,800		\$11,800	99.2%	\$0	\$1 0.01%
Total CASH AND SHORT TERM					\$11,899		\$11,899	100.0%	\$0	\$1 0.01%
FIXED INCOME										
US GOVT AND AGENCY BONDS										
109116 US TREASURY NOTES	12/31/2017	912828PN4	858,000.000	\$108.47	\$930,661	\$109.625	\$940,582	73.1%	\$9,920	\$23,595 2 51%
Total US GOVT AND AGENCY BONDS		•			\$930,661		\$940,582	73.1%	\$9,920	\$23,595 2.51%
CORPORATE BONDS										
270595 AMER EXPRESS CREDIT CO 7	7.300% 08/20/2013	0258M0CY3	75,000.000	\$99.83	\$74,876	\$108.525	\$81,394	6.3%	\$6,518	\$5,475 673%
200566 NOVARTIS CAPITAL CORP	02/10/2014	66989HAA6	75,000.000	\$99.90	\$74,922	\$106.992	\$80,244	6 2%	\$5,321	\$3,093 385%
201223 JPMORGAN CHASE & CO	01/20/2015	46625HHP8	65,000.000	\$101.05	\$65,684	\$103.680	\$67,392	5.2%	\$1,707	\$2,405 3.57%
200567 PROCTER & GAMBLE CO	02/15/2015	742718DM8	75,000.000	\$99 58	\$74,685	\$107.684	\$80,763	63%	\$6,078	\$2,625 3 25%
Total CORPORATE BONDS		·			\$290,167		\$309,793	24.1%	\$19,624	\$13,598 4.39%
TAXABLE MUNICIPAL BONDS										
310859 NJ ECON DEV AUTH TAXABLE	09/01/2014	645918ZB2	35,000.000	\$100 00	\$35,000	\$102 077	\$35,727	2.8%	\$727	\$1,109 3 10%
Total TAXABLE MUNICIPAL BONDS					\$35,000		\$35,727	2.8%	\$727	\$1,109 3.10%
Total FIXED INCOME					\$1,255,828		\$1,286,102	100.0%	\$30,271	\$38,302 2.98%
Total .					\$1,267,727		\$1,298,001		\$30,271	\$38,303 2.95%

Market prices are updated nightly and therefore will not reflect pricing changes made intraday Asservent there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices